Component 7/Unit 8
Self-Assessment Key


1.Name the four general processes that make up the software development lifecycle.

Answers: Planning and Analysis, Design, Implementation, Support/Evaluation
Objective: Conduct a basic user needs analysis for a given example situation

2.True or False: A small single provider health care clinic is more likely to implement a custom-built HIT system than to acquire an off-the-shelf product to meet a particular health care need.

Answer: False, a small single provider health care clinic is unlikely to have the resources to implement a custom-built HIT system.
Objective: Create a plan for training users in a small office practice, a large community clinic, or a single unit in an ambulatory care setting.

3. Which of the following activities highlighted in this unit is likely to be a part of 2 or more phases of the systems development process?
a. Strategic Planning
b. User Needs Analysis
c. Training

Answer: C – Training

Objective: Create a plan for training users in a small office practice, a large community clinic, or a single unit in an ambulatory care setting.

4.Why is it important to have a vision for how a proposed HIT system will impact and be used within a health care organization?

Answer: A vision for an HIT system should support the goals and mission of the organization, ensuring that the HIT system implementation helps the organization achieve its goals.  The vision also feeds the analysis of HIT systems and determination of required features, ensuring that the needs of the organization, rather than the features of proposed solutions, drives the choice and implementation of a solution.
Objective: Conduct a basic user needs analysis for a given example situation

5. What is another term used to describe “business process modeling?”

Answer: user needs analysis

Objective: Conduct a basic user needs analysis for a given example situation

6.Which of the following is NOT part of business process analysis?
a .Observation of current workflow
b .Implementation of software to solve a workflow challenge
c .Interviewing employees involved in a business process
d. Sharing analysis with those interviewed

Answer: b. Implementation of software to solve a workflow challenge
Objective: Conduct a basic user needs analysis for a given example situation

7. List three (3) potential improvements to health care that an HIT system implementation could generally be expected to enable, over existing paper-based processes.
Possible answers:
a. Simplify existing workflows (improving efficiency)
b. Improving the accessibility of health care information to patients
c. Improving the safety of care
d. Enabling improved documentation, and more comprehensive documentation of care
e. Allow for the delegation of tasks to make most efficient use of provider and staff time.
Objective:Create a plan for training users in a small office practice, a large community clinic, or a single unit in an ambulatory care setting.

8. Why is it important to include a “practice” version of a new HIT system during the implementation phase?
Answer: A “practice” version of the system can be used as part of the training plan for the organization, allowing for a safe environment for staff of the organization to learn how to use the new system without negatively impacting the functioning of the production system.
Objective: Create a plan for training users in a small office practice, a large community clinic, or a single unit in an ambulatory care setting.
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